Multipliziere Dezimalzahlen mit 10.100.1000

5,479 x 10 =

10,367 x 10 =

8,091 x 10 =

7,989 x 100 =

2,293 x 100 =

5,453 x 1000 =

10, 664 x 1000 =

1,634 x 100 =

3,796 x 10 =

6,296 x 100 =

Datum: Ergebnis:

5,918 x 100 =

2,506 x 100 =

1, 605 x 100 =

8,377 %10 =

2,956 x 100 =

8,552 x 10 =

4,7 > 100 =

3,248 x 10 =

5,169 x 10 =

10,83 x 10 =
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Multipliziere Dezimalzahlen mit 10.100.1000

5,479 x 10 = 54.79

10,367 x 10 = 103.67

8,091 x 10 = 80.91

7,989 x 100 = 798.9

2,293 x 100 = 229.3

5,453 x 1000 = 5453

10, 664 x 1000 = 10664

1,634 x 100 = 163.4

3,796 x 10 = 37.96

6,296 x 100 = 629.6

Datum: Ergebnis:

5,918 x 100 = 591.8

2,506 x 100 = 250.6

1, 605 x 100 = 160.5

8,377 x 10 = 83.77

2,956 x 100 = 295.6

8,552 x 10 = 85.52

4,7 %100 =470

3,248 x 10 = 32.48

5,169 x 10 =51.69

10,83 x 10 = 108.3
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